
ASSEMBLY INSTRUCTION

EC 60124-S5V - ELODIE TV KAST 1 / MEUBLE TV 1 / TV CABINET 1

~ Before assembly, please read the instructions ~

~ Keep these instrucrions for future reference ~

~ Follow these steps to assemble the product ~

A

32pcs

PLASTIC

DOWEL

8X25

H
A

R
D

W
A

R
E

Page 1 of 4

PART LIST

SOFT,DRY CLOTH CHEMICAL HEAT KEEP DRY
HANDLE WITH CARE DO NOT USE KNIFE

16MM

50MM

90MM

25MM

B C

8pcs

CB

SCREW

M3.5X16

D

4pcs

CB

SCREW

M4X30

E F G1

4pcs

CSK CAP

M6X50

H

6pcs

CSK CAP

M6X90

I

14pcs

MINIFIX 5654

(HOUSING)

G2

14pcs

MINIFIX 5654

(SCREW)

J

8pcs

METAL

SHELF

SUPPORT

K1

18pcs

CAP

L M

2sets

HINGES 

2

8

"

N

1pc

HANDLE VSC18

(224MM) - SIL.

GREY

K2

2pcs

P/H SCREW

M4X20

O

45pcs

POWER

NAIL 

6

8

"

ALLEN KEY

5pcs

SOFA LEG

(H70mm)

-GREY

10pcs

CB

SCREW

M4.5X45

45MM

1pc

70MM

4pcs

CSK CAP

M6X70

8

9

1

7

2

12

13

3

4

5

3

13

15

14

4

6

11

 DEZE HANDLEIDING GEBRUIKEN !! /  UTILISER CE MANUEL !!

Johan Oosterlynck
Markering



Page 2 of 4

A

32pcs

PLASTIC

DOWEL

8X25

14x

G2

Step 1

Step 2

A

H

32x

G2

14pcs

MINIFIX

5654

(SCREW)

H

8pcs

METAL

SHELF

SUPPORT

Step 4

8x

I

L

E

L

O

Step 3

E

4pcs

I

4pcs

L

1pc

ALLEN KEY

O

4pcs

CSK CAP

M6X70
CAP

CSK CAP

M6X50

50MM

70MM

4x

4x

Top View

Bottom View

3

4

1

7

2

Left View Right View

12

Inside View

Bottom View

8

9

12

9

1 2
7

9

5 6

33

4

3

11



D

N

I

L

G1

M

L

F

3

4

3

4

C

Page 3 of 4

Step 5

Step 7

G1

4pcs

I

4pcs

L

1pc

ALLEN KEY
CAP

MINIFIX 5654

(HOUSING)

F

6pcs

L

1pc

ALLEN KEY

CSK CAP

M6X90

Step 6

90MM

D

10pcs

N

5pcs

CB SCREW

M4.5X45

SOFA LEG

(H70mm)-GREY

45MM

6x

5x

Step 9

C

4pcs

CB SCREW

M4X25

25MM

4x

Step 8
4x

G1

6pcs

I

6pcs

L

1pc

ALLEN KEY
CAP

MINIFIX 5654

(HOUSING)

I

L

G1

6x

M

45pcs

POWER NAIL 

6

8

"

Step 10

45x

7

2

1

8

12

Back View

15

14

13

3

3



A

D

J

U

S

T

A

D

J

U

S

T

K1

K2

B

J

13

13

Inside View

J

B

Outside View

Page 4 of 4

K1

1pc

Step 11

Step 13

K2

2pcs

Step 12

HANDLE VSC18

(224MM) - SIL.

GREY

P/H SCREW

M4X20

1x

2x

B

4pcs

J

2sets

HINGES 

2

8

"

16MM

CB SCREW

M3.5X16

Completed

2x

B

4pcs

16MM

CB SCREW

M3.5X16

13


